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#include <stdio.h>
#include <stdlib.h>
#include <time.h>

int judge(int u, int ¢) {

1

int main() {
int u_hand, c_hand;
int j =0, r = 0;
char *hands[3] = {"7“——", "-f-a:}'\—ll’ "yg—ny,

srand(time (NULL)); // ELEFI% Uik

u_hand = c_hand = 0;

while ([ D |) {

c_hand = rand() % 3;
printf ("HAFDF S —:00F 3 F 18— 12" ;
scanf ("%d", &u_hand);

printf ("HRIDF %s, T ' Ea—F DF Y%s\n", hands[u_hand], hands([c_handl);
j = judge(u_hand, c_hand);

if ([ B ) A

printf ("HV>I\n");

[E ]
} else if () {

printf("H R DL \n");

H

} else {
printf ("2 Y ¥ 2 —F DEEE\n");
}
}
}






